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1. Your appetite may be spoiled if the apron is still tied around your wast.   

    (A)   (B)    (C)      (D) 

2. It possibly leads to the consaderible discussion on the safety of fast food oil cooking  

  (A)     (B)  (C)        (D) 

3. After the vacation, the scater of the litter pollutes the tourist sites.   

   (A)   (B)   (C)    (D) 

4. Ladies and gentlemen, we are now at the ecoloqical district.  The next stop is Kaohsiung Arena.     

       (A)        (B)    (C)        (D) 

5. The Neihu-Muzha mass rapid transite on July 12th was paralyzed due to the serious computer failure.   

          (A)       (B)     (C)   (D) 

6. Fans reportedly donated money to Michael Jackson’s memorial service, but it was hammpered by technical problems.    
   (A)         (B)       (C)   (D) 

7. Yushan, the highest peak in Taiwan, has been nominated as the candidate for the seven wondars.   

      (A)       (B)   (C)     (D) 

8. New York Yankee patcher Wang Chien-ming scored his first victory of the season in a game against Mets on Sunday night.  
    (A)      (B)     (C)      (D) 

9. Ting Hsin International Group, China’s biggest package food maker, has acquired 20% steake in Taipei 101.   

    (A)       (B)    (C)    (D) 

10. Kaohsiung Tourism Bureau invited enteprises and civil groups to purchase the tickets for the 2009 World Games.   
      (A)   (B)   (C)    (D) 

11. Thousands of tens of Hong Kongers staged a demonstration to push for democracy amid the ailing economy.     

  (A)        (B)    (C)    (D) 

12. Under the climate of diplomatic truce, Taiwan would not oppose Panama forging a commercial relationship with China  

   (A)                (B) 

 under the condition if Taiwan-Panama ties remain unchanged.   

   (C)          (D) 

13. In Russia, slot-machine halls shuted down as a new law took effect that imposes new restrictions on the gaming industry.  
   (A)   (B)     (C)     (D) 

14. Due to that was the reduced production and the boosting buying price, the low retail price for ponglai rice came to an end  
 (A)         (B)        (C)      (D) 

15. Since China blocked the sale, two imperial bronzes in auction, which was plundered in war, would not be paid up.     
    (A)       (B)     (C)      (D) 

16. Taiwan is expected to sign MOU with ASEAN to safeguard the intellect property rights and combat the piracy.    
  (A)   (B)          (C)      (D) 

17. The local residents are suggested to make a wise use of their consumer vouchers on green products or daily commodities.  
  (A)       (B)     (C)        (D) 

18. Agricultural crop losses, owing that Typhoon Krosa wrecked havoc on Taiwan, have been pegged NT$2.37 billion.   
  (A)    (B)      (C)      (D) 

19. A major 7.7-magnitude earthquake rocked Chile, leading from the power breakdown and leaving thousands homeless.   
        (A)   (B)    (C)     (D) 

20. With the aim to upgrading the economic competitiveness, efforts are made to improve the existing taxation system.    
 (A)       (B)     (C)       (D) 

＜背面尚有題目＞ 



【乙】閱讀測驗 每題 6 分 第 21 到 28 題請搭配出適切的句意。第 29 到 40 題為圖表或短文閱讀測驗。 
Recently, a survey by the Child Welfare League Foundation has discovered the excessive snacking among children in Taiwan.  
Wang Yu-min, (21)_____, warned that each mouthful of snacks possibly led to (22) __________.  “For the kids, the 
excessive amounts of snacks (23) __________ such as obesity, diabetes and kidney problems.”  The survey showed that 24.9 
percent of children tend to consume more than one packet at a time, (24) __________.       
(A) poses a risk to their health  (B) executive director of the foundation (C) huge amounts of calories and artificial additives  
(D) including some who eat up to 10 packets in one go 
Twitter, a newly-invested device, is a social-networking and micro-blogging service out of charge.  Users read or send the 
updates by means of the tweets (25) __________.  Additionally, the author’s profile page can be displayed and (26) 
__________.  Users send or receive the tweets via the Twitter website, Short Message Service (SMS), or external 
applications.  Despite the service is free of charge over the Internet, (27) __________.     Since its creation in the year of 
2006, Twitter has become the bubbling hot (28) __________.   
(A) as it provides the functionality for other desktop and web-based applications to send and receive short text messages
(B) which are text-based posts of up to 140 characters   (C) using SMS may incur phone service provider fees  
(D) then delivered to other users who are known as followers 

Company Sales (in billions) Company Sales (in billions) Company Sales (in billions)
Sankyu, Inc. $2,890 Executive Jet $1,450 InterCon $1,400 
Continental, Ltd $1,380 Hospital Supply $1,370 Tislak Leasing $1,300 
Leber Bank $1,250 Euro Data $1,250 TeleVide $1,200 
29. What does this chart show?   
 (A) Selling price (B) Corporate salaries  (C) Relative positions of successful companies (D) Numbers of investors 
30. What can be said about Sankyu, Inc.?   
 (A) It performed better last year.   (B) Its sales are almost double the next ranking company.  
 (C) Its sales are half as much as TeleVide.  (D) Its earnings equaled that of Executive Jet.  
31. What does the word, leasing, mean (as in Tislak Leasing)  ?   
 (A) Breach    (B) Possession.   (C) Rent.    
 A new flu virus is reprtedly emerging in Canada in the wake of the swine flu outbreaking in Mexico.  In the province of 
Saskatchewan, western Canada, two employees at a hog barn were seemingly infected with a new flu virus.  Despite the 
health official stressed that the strain was irrelevant with the H1N1 pandemic, the new virus from these two farmers was 
common in the swine population called triple reassortant H3N2.  Insofar, the Saskatchewan hog barn has not been under 
quarantine, but the owner has agreed not to move the pigs.  Besides, all workers on the hog farm have to be vaccinated.  If 
the new virus is evidently deadly, all the hogs here will eventually go to slaughter.  Frank Plummer, chief science adviser for 
the Public Health Agency of Canada, said that H3N2 was likely transmitted from the pigs to the workers.  By contrast, 
human was the major source of the H1N1 virus transmission.  Canadian Swine Health Board executive director Bob Harding 
said the impacts of H3N2 might not be as devastating as H1N1.  Nevertheless, we had to keep alert on H3N2 from hogs. 
32. What is the main idea of this reading passage?   
 (A) More H1N1 infection. (B) The quarantine of hogs. (C) A new vaccine of the H3N2. (D) A new flu virus in Canada. 
33. Which action will the Canadian officials take in response to the H3N2 virus?   
   (A) Slaughtering hogs. (B) Keeping observation. (C) Seeking the assistance overseas. (D) Being banned from traveling.   
34. What is the meaning of the lexicon outbreaking in line 1?   
 (A) A shortfall of supply.  (B) To block.  (C) To happen suddenly.  (D) To take effect 
35. Which of the following is true?   
 (A) H3N2 is not as deadly as H1N1.   (B) The major source of the transmission of H3N2 is human.  
 (C) All farmers have suffered from the H3N2.  (D) Moving the pigs is the best bet for reducing the H3N2.   
   “Dogs can get jealous”, said lead author Friederike Range of the University of Vienna, Australia. In experiment with 43 
dogs, one dog watched another dog receive a reward for doing a trick.  Then, the watching dog performed the same trick but 
was not rewarded.  Next time, that dog refused to do the same trick again, Range said.  This research result remained true 
for different experiment participants such as chimpanzees and capuchin monkeys.  “If one dog does not get the same reward 
as its partner, it will scratch, yawn, and avoid the gaze of the partner dog as well as the experimenter.”  Range’s scientific 
study was further verified by Scott Creel, a behavior ecologist at Montana State University.   
36. Which scientific finding has been discovered in this passage?   
 (A) The sensitivity of sounds.  (B) The quality of reward.  (C) The stimulus-response act.  (D) The emotional feedback.   
37. According to this passage, what is the possible consequence if a dog does not get the same reward as its partner?   
 (A) Barking. (B) Being indifferent to the feeder.  (C) Waving its tail.  (D) Scratching the wall. 
38. What is the main idea of this passage?   
 (A) The invalidity of this study. (B) Dogs’ sensitivity to tricks. (C) Animals’ mental reaction.  (D) Performance skills.   
39. What does the word, affirm, mean in line 2?   
 (A) Confirm.  (B) Endeavor.  (C) Proctor.  (D) Restrain.   
40. Which field is Scott Creel an expert in?   
 (A) Psycholinguistics.  (B) Ecological behavior.  (C) Social communications.  (D) Neurology.   

http://en.wikipedia.org/wiki/World_Wide_Web
http://en.wikipedia.org/wiki/Short_message_service

